

victoria university of Bangladesh

student name : Md. sohel Rana

student ID : 2119170011

course code : MAT-325

course title : Differential Equation
And Fourier Analysis

program : B.Sc in CSE (Reg)

semester : summer - 2024

Batch : 17th

Ans to the qu. No: 1

$$\textcircled{1} y = e^{3x+2}$$

$$y_1 = \frac{dy}{dx} = e^{3x+2} \frac{d}{dx} (3x+2)$$

$$= e^{3x+2} (3(1) + 0)$$

$$= 3e^{3x+2}$$

$$y_2 = \frac{d^2y}{dx^2}$$

$$= 3 \left[\frac{d}{dx} (e^{3x+2}) \right]$$

$$= 3(3e^{3x+2})$$

$$= 9e^{3x+2}$$

$$= 9y$$

Ans:

②

$$y = \log x + a^x$$

$$y_1 = \frac{dy}{dx} = \frac{1}{x} + a^x \log a \left[\frac{d}{dx} (a^x) = a^x \log a \right]$$

$$y_2 = \frac{d^2y}{dx^2} = \frac{d}{dx} \left(\frac{1}{x} \right) + \log a \frac{d}{dx} (a^x)$$

$$= \frac{-1}{x^2} + (\log a) (a^x \log a)$$

$$= \frac{-1}{x^2} + (a^x \log a)^2$$

Ans:

Ans to the qu No: 2

(a) $f(x) = 3x^2 - 2x + 4$ at $x = 0$ and 3

Find the derivative of $f(x)$

$$3x^2 - 2x + 4$$

$$f'(x) = 6x - 2$$

find the slopes of the tangent lines
at $x = 0$ and $x = 3$

$$\text{At } x = 0 : f'(0) = 6(0) - 2 = -2$$

$$\text{At } x = 3 : f'(3) = 6(3) - 2 = 16$$

Now, we have the slopes of the tangent lines at $x = 0$ and $x = 3$.
use the point-slope form of a linear equation to write the equations of the tangent lines:

$$\text{At } x = 0$$

$$\text{point : } (0, f(0)) = (0, 4)$$

$$\text{slope : } m = -2$$

Equation of the tangent line: $y - y_1 = m(x - x_1)$

Plug in the values: $y - 4 = -2(x - 0)$

simplify: $y + 4 = -2x$

Final equation of the tangent line

at $x = 0$: $y = -4$

$$y = -2x + 4$$

At $x = 3$:

point: $(3, f(3)) = (3, 31)$

slope: $m = 16$

Equation of the tangent line: $y - y_1 = m(x - x_1)$

plug in the values: $y - 31 = 16(x - 3)$

simplify: $y - 31 = 16x - 48$

final equation of the tangent line at

$x = 3$: $y = 16x - 17$

so, the equation's of the tangent lines

to the function $f(x) = 3x^2 - 2x + 4$

at $x = 0$ and $x = 3$ are:

At $x = 0$: $y = -2x + 4$

At $x = 3$: $y = 16x - 17$ - Ans!

Q.101 Ans to the Q. NO: 3

To find the second derivative of y with respect to x , given the differential equation:

$$\frac{d^2y}{dx^2} + 3 \frac{dy}{dx} = 4y = xe^x$$

Let's first differentiate both sides of the equation with respect to x to isolate the second derivative term:

$$\frac{d}{dx} \left[\frac{d^2y}{dx^2} \right] + \frac{d}{dx} \left[3 \left(\frac{dy}{dx} \right) \right] = \frac{d}{dx} [4y]$$

$$= \frac{d}{dx} [xe^x]$$

Now, let's break down each term:

$$1. \frac{d}{dx} \left[\frac{d^2y}{dx^2} \right] = \frac{d^3y}{dx^3}$$

$$2. \frac{d}{dx} \left[3 \left(\frac{dy}{dx} \right) \right] = 3 \left(\frac{d^2y}{dx^2} \right)$$

$$3. \frac{d}{dx} [4y] = 4 \left(\frac{dy}{dx} \right)$$

$$4. \frac{d}{dx} [xe^x] = e^x + xe^x$$

Now, let's substitute these derivatives back into the

$$\frac{d^3y}{dx^3} + 3 \left(\frac{d^2y}{dx^2} \right) - 4 \left(\frac{dy}{dx} \right) = e^x + xe^x$$

combine like terms!

$$4 \left(\frac{d^3y}{dx^3} \right) - 4 \left(\frac{dy}{dx} \right) = e^x + xe^x \quad \underline{\text{Ans:}}$$

Ans to the qu: No: 4

$$y = x^2 - 2x + 3$$

$$\frac{dy}{dx} = 2x - 2x = 0$$

$$x = \frac{2}{2}$$

$$x = 1$$

so the point is given as

$$y = x^2 - 2x + 3$$

$$= (1)^2 - 2 \cdot 1 + 3$$

$$= 1 - 2 + 3$$

$$= 4 - 2$$

$$= 2$$

so the point is $(1, 2)$ Ans!

Ans to the qu. no. 5 -

Given $w = \cos(x^2 + 2y) - e^{4x - 2y} + y^3$
 partial derivative with respect to x

$$\left(\frac{dw}{dx}\right):$$

$$\frac{\partial w}{\partial x} (\cos(x^2 + 2y) - e^{4x - 2y} + y^3)$$

Applying the chain rule for the first term:

$$-\sin(x^2 + 2y) \frac{d}{dx} (x^2 + 2y) - 4e^{4x - 2y} = 0 + 0$$

simplifying:

$$-2y \sin(x^2 + 2y) - 4e^{4x}$$

partial derivative with respect to y

$$\left(\frac{dw}{dy}\right):$$

$$\frac{\partial}{\partial y} (\cos(x^2 + 2y) - e^{4x - 2y} + y^3)$$

Applying the chain rule for the first term:

$$-2 \sin(x^2 + 2y) - 0 - z^4 + 3y^2$$

simplifying: $-2 \sin(x^2 + 2y) - z^4 + 3y^2$

partial derivative with respect to

$$z = \left(\frac{\partial w}{\partial z} \right)$$

$$\frac{\partial}{\partial z} (\cos(x^2 + 2y) - e^{4x - z^4 y} + y^3)$$

since z appears only in the third term, its derivative with respect to

$$z \text{ is: } -4zy^3$$

so, the partial derivatives of w are:

$$\frac{\partial w}{\partial x} = -2y \sin(x^2 + 2y) - 4e^{4x}$$

$$\frac{\partial w}{\partial y} = -2 \sin(x^2 + 2y) - z^4 + 3y^2$$

$$\frac{\partial w}{\partial z} = -4zy^3 \quad \underline{\underline{\text{Ans.}}}$$